BB ARSE

w2023FE FALEBRARME [RIFE] X20224 11 B10B IR : FRONBEFELEHET,
LT e B-0—RE-HEAN tH RS HEEE T HERE SHRERE AREE
RIS E MR 5509 EE(EA)
BUEE 2T 128 188(8)| 128 198(A)| B HAETREE /NAX - 2(50%) EHE(EA)
BAREE N8 (E505) EIE(EA)
= # web 11A26B(t)| 128 128(A)
(§E€-{;Eﬁ) 504 18 8H(A) 1A 118 (7K)|E (1005 -60%3)-$2(100 4 -707)- #1 - E(& 1004 -50%3)- E (1008 -6093 -V R=2 T B Y)
BRAR
e 18 178(K) 2F5-TYRA—R IS0 a—R /E- -1t FEE1004-505)- E(1004-505 - UR=2 5 HY)
(SR8~ BFRE) web 12B18(K)|  web 128268(A)
. o 128 268(8)| 18 128(%) 1A 28R
-E'JZ\ai\Z @R ATFS5-IVARI—R I
BHE # B atEs 50X 18 18H(7k) - $- 2(&1004-50%3) E(EE)
(4475 - T ) TJAVT4F7A—R /3404 (REEREEFED)
—hg—x web 1281H(K) web 18278(£) W SR . . 5
(SRR B 18 238(8) 28 28(X) 28 7R(X) 2R 108 () |E-$- E(&1005-50%) miE(EE)
(Aﬁl;ls%jt) 18 178(X)| 1A 20E(£)|E (20055705 - YR =24 V) St RIRE(50 4 -305)- EHE(EA)
web 12B18(K)|  web 12H318(1)
_— BEH T O LA—R 128 18( 18 68(%&)
p: =1 = —_— | — DG . -y .
Elﬂﬁﬁm 5 BH) ShEsa—2 18 248(X) 18 278 (%) |E-#- E(&1004-5053)
HEIVTF(F7I—R  240%
I8 H- 1005 -50%)- (2005 -50% - 1) R =2 D XE-FEBEHNF 2f&&
i e 125]3% we 153;2%3 25 7A(K)| 28 138(8) 11%:g-i(-%-ii(%10(i:§?-§)(’ﬁ)-§(10(ijﬁ-éoﬁ-ﬁzgi)ﬁw}% HERRIBSELEETS
> M E-$(F1005-5047) - E(1008 505 YR=V S HY) Eig- EFHEEE(200:)
ABE R 15 B a 100 A by) BEEE T
o B0 R-FRE: E-$/(£1005-40%3)- (1005 .50 - UR=V S B Y)- 248 *E
Jen-mim A 168(R) 1A OB g2 555 57 | B B 10015-409)- B(1004 505 - UR=2 Y hY) BERE
RORTD) | mn 1w 128 2a®)| 18 108(%) FRU 467 1 - - b ANS oD AR CIE. 50— L TOS - S HGP) DRI BN CATEE50 i H T 5.
LBESE = Hg B(ABEREEET
m%5.7150 B hy
BHE ( - ) 1A 218(L) 1A 24A(K)|FLEUTF—Las(35))- EEEE
SEVRE R &) . o B0 -YR=UH BLY))-E=H
CH#E 2R 18(K) 2R 168 (K) 2R 22H(7k) 2R 248 (%) ggﬁi%g(g‘];%(g?gggﬁo)oﬁ(?g; |fg]i;77rﬁuj)7§;§}{§%xggﬁ
. " BERE- (B 10054-505)- E(1008-505 - YR $HY)
HRAS %ﬁﬂ;;?}j—‘i—:—x iﬁiﬁ 128 22H(K) 18 68(&) 18 178(K) 1A 20H(%) ;_&«4’§fﬁﬂ/|§|_ﬁ(§100/§.50ﬁ).§(100)§.509}.Ux:;g“@L}).iﬁéﬂjgﬁ(Qoﬁ)
RSAAXE | & Ao Al - .
5 ;w?;?ﬁéﬁoé@?ﬁé&@%ﬁm) BEEE -4 (100 -50%) 5 (100 509U R=2 5 )
—R A 208(&) 1A ZAEE) 1A S0R(A) 2R SE®) 45 42 %M. B M(E 1004 509) K(100/ 505 YR =24 V) REFHIR(©0%)
47;&1%K BEEFI—R /EHEEAN)
BRAR - RIGTRN )
ey . 18 5E(K)| 18 1MEGK)| 18 168(H) 18 188 (k)| E - #(£ 1004 -50%3)- E(100 R -505 - YR =24 HY) - EHE
&K % B HAEE—2 255
REA BEEFI-Z 108 - 5(& 1005 -5095)- (1004505 - U R =24 V) EHE(EIEN—FIZ L3 H HEE)
—hE— 18 198 (K) 18 24H(X) 18 27H(®) 18 308 (A)|E-#(£10054-50%)- E (1004 -504 - UR=V S B Y)-EHE(EAN)




